
SAP ABAP table REAJ_EXPENSE_MASS_CHANGE_INDX {Mass Change of Expense Items - Index Change}

REAJ_EXPENSE_MASS_CHANGE_INDX

INDCLA [NUMC (1)]

WBIND [CHAR (5)]

BASJHR [NUMC (4)]

INDJHRBEG [NUMC (4)]

INDMONBEG [NUMC (2)]

INDJHREND [NUMC (4)]

INDMONEND [NUMC (2)]

T094A

MANDT [CLNT (3)]

WBIND [CHAR (5)]

 REAJ_EXPENSE_MASS_CHANGE_INDX-WBIND = T094A-WBIND 
0..N

1

T094B

MANDT [CLNT (3)]

WBIND [CHAR (5)]

YBASISJ [NUMC (4)]

 REAJ_EXPENSE_MASS_CHANGE_INDX-BASJHR = T094B-YBASISJ 
0..N

1

T094C

MANDT [CLNT (3)]

INDCLA [NUMC (1)]

 REAJ_EXPENSE_MASS_CHANGE_INDX-INDCLA = T094C-INDCLA 
0..N

1

T094P

MANDT [CLNT (3)]

WBIND [CHAR (5)]

BASJHR [NUMC (4)]

INDJHR [NUMC (4)]

INDMON [NUMC (2)]

INDTAG [NUMC (2)]

 REAJ_EXPENSE_MASS_CHANGE_INDX-INDJHRBEG = T094P-INDJHR 

0..N

1

 REAJ_EXPENSE_MASS_CHANGE_INDX-INDJHREND = T094P-INDJHR 

0..N

1

 REAJ_EXPENSE_MASS_CHANGE_INDX-INDMONBEG = T094P-INDMON 

0..N

1

 REAJ_EXPENSE_MASS_CHANGE_INDX-INDMONEND = T094P-INDMON 0..N

1


